M6 x 25 DIN7991 | M6 x 12 DIN7991

| M8 x 20 DIN7991 | | M8 x 20 DIN7991 |

813LB

813RM M6 x 25 DIN7380

+ 816L + M6 DIN985

M8 x 25
DIN7991

877

872

M6 x 45 DIN7380
+ 817 + 123121806
+ M6 DIN985

M8 x 50 DIN6921
+ 807

M6 x 16 DIN7380
+ 2x 816R

M8 x 60 DIN6921
between 872 and 8350
818250 + 123221508

> : + 807

M8 x 50 DIN6921 \
+ 123220708 818215

S0200

819M6L

HONDA CBR 400R/CBR 500R/
CB 400F/ CB 500F (2013-2023)
REVERSE SHIFTING
Part Nr. 6700

Racing Parts




